Page 1 of 4

Buyer:	City of West Allis Attn: Gene Baietto	Date: 9/14/2017 Project Code: Terms NET 30 DAYS			
	Cable Communications 7525 W Greenfield Ave	Account Representative: Brian Allegretti			
Ship Τα	Milwaukee, WI 53214 United States 414-302-8300	Phone: 866-539-2633 Email: ballegretti@keycodemedia.com			
	City of West Allis Attn: Gene Baietto	Please fax signed quote to: 310-857-3844			
	Cable Communications 7525 W Greenfield Ave Milwaukee, WI 53214 United States	Our Address: 1201 Wiley Road, Suite 100, Schaumburg, IL 60173			

No.	Part #	Description	Тах	Qty	Price	Extend
	Comment:	****				
	Comment:	Gear for Control Room & Video of Art Gall	ery			
	Comment:	*****				
4	ROI-HDMI	HDMI to SDI Mini Converter with ROI Scaling 2 HDMI to SDI Converters for Common Co	TX ouncil and Art Galler	2.00)	829.00	1,658.00
5	KUMO 1616	KUMO 16x16 Compact SDI Router, with 1 power supply 16x16 Router to assist in Video into TriCas	TX	1.00	1,659.00	1,659.00
6	KUMO CP	1RU Hardware Control Panel for KUMO routers Router Control Panel	ТХ	1.00	497.00	497.00
7	HELO	 H.264 HD/SD recorder/streaming appliance with 3G-SDI and HDMI inputs/ outputs. Record to USB drives/SD cards/Network shares, with live streaming 4 Streaming Devices to Stream meetings and streaming 		4.00	1,078.00	4,312.00
8	KI-PRO-ULTRA-PLU	4K/UltraHD and 2K/HD Recorder/Player wit Multi-Channel encoding Support includes: AC Adapter (AC to 4-pin XLR), handle, feet (Storage not included) 4 Channel Recorder for Control Room		1.00	3,294.00	3,294.00
9	PAK256	256GB SSD Module, for Ki Pro Quad Recording Media for Ki Pro	ТХ	2.00	419.00	838.00
10	NDIHX-PTZ1	NDI HX – PTZ-1 Camera	ТХ	2.00	2,485.00	4,970.00
						Continued



(cont...) Sales Quotation: 110204A / City of West Allis

Page 2 of 4

	2 Newtek PTZ Cameras for Art Gallery				
11 AW-HE2PJ	Panasonic AW-HE2PJ Compact HD / SD Integrated Indoor Camera	ТХ	1.00	879.00	879.00
	Wide Angle camera for reverse angle of	Art Gallery			
12 HA5	AJA HDMI to HD-SD SDI, includes 1-mete HDMI cable. Video & Audio Converter "Includes DWP Power Supply"		1.00	287.00	287.00
	Converter for HDMI out of HE2 to SDI to	Control Room			
13 PAK-DOCK	External dock for all AJA Pak modules with Thunderbolttm and USB3.0 connections to host computer	ТХ	2.00	246.00	492.00
	Dock to load media from Ki Pro				
14 */KCM-INT-M	AT Installation materials	ТХ	1.00	150.00	150.00
	additional materials such as small cablin ect, needed for onsite installation	ig, connectors, scre	WS		
15 /TSPRO-15	Project Engineer, Daily Rate		2.00	1,595.00	3,190.00
	System offsite setup, onsite integration ar labor, Commissioning Services - Intermediate / Configuration, testing, and documentation related to your solution components.	nd			
	2 Day for install and Training.				
Comment:	*****				
Comment:	Sub total of Video Equipment \$22,226				
Comment:	****				
Comment:	Art Gallery Audio Equipment				
Comment:	****				
21 MXW8	Desktop Base Transceiver Goose Neck Microhpone Wireless Base	ТХ	8.00	489.00	3,912.00
22 *MX415LPDF	C 15 Inch Goose Neck Microphone 15 Inch Goose Neck Microphone	ТХ	8.00	194.00	1,552.00
23 MXWNCS8	8-Channel Networked Charging Station Charging Stations for Wireless Bases	ТХ	3.00	1,493.00	4,479.00



(cont...) Sales Quotation: 110204A / City of West Allis

Page 3 of 4

•	,		•				-
	24	MXW1/O	Bodypack Transmitter with Integrated Omnidirectional Microphone and 4-Pin Mini Connector (TA4M) (Includes one SB901 Battery) Wirelees Lav Body Pack	ТХ	2.00	493.00	986.00
	25	WL183	Microflex® Omnidirectional Lavalier Microphone Microphone for Lav Body Pack	ТХ	2.00	89.00	178.00
	26	MXW6/C	Boundary Transceiver, Cardoid Desktop Microphones for Crowds	ТХ	4.00	529.00	2,116.00
ľ	27	MXWAPT8	8-Channel Access Point Transceiver Wireless Receiver	ТХ	2.00	2,869.00	5,738.00
	28	SCM820-DAN	Eight Channel Digital Automatic Mixer, Block Connectors, Dante™ Digital Audio Wireless Audio Mixer	тх	2.00	2,029.00	4,058.00
		Comment:	******				
		Comment:	Art Gallery Audio Equipment Subtotal \$23,	019			
		Comment:	******				
		Comment:	Room 128 Audio Upgrade				
		Comment:	******				
	34	MXW8	Desktop Base Transceiver Goose Neck Microhpone Wireless Base	ТХ	4.00	489.00	1,956.00
1	35	*MX415LPDF/C	15 Inch Goose Neck Microphone 15 Inch Goose Neck Microphone	ТХ	4.00	194.00	776.00
	36	MXWNCS8	8-Channel Networked Charging Station Charging Stations for Wireless Bases	ТХ	1.00	1,493.00	1,493.00
	37	MXWAPT8	8-Channel Access Point Transceiver Wireless Audio Reciever	ТХ	1.00	2,869.00	2,869.00



(cont...) Sales Quotation: 110204A / City of West Allis

Page 4 of 4

38 SCM820-DAN	Eight Channel Digital Automatic Mixer, Block Connectors, Dante™ Digital Audio Wireless Audio Mixer	ТХ	1.00	2,029.00	2,029.00
39 /TSPRO-15	Project Engineer, Daily Rate System Commissioning Services - Intermediate / Configuration, testing, and documentation related to your solution components.		1.00	1,595.00	1,595.00

SubTotal	\$55,963.00
Shipping & Handling	To Be Determined
Sales Tax Order Tota :	\$0.00 \$55,963.00

The terms and conditions of this Sales Quote ("SO") can be found at http://www.keycodemedia.com/terms/salesorder, which constitutes an offer or counter-offer, as applicable, on the part of Key Code Media, Inc. ("KCM"). This SO becomes a binding contract, when the buyer listed above ("Buyer"), accepts by acknowledgement, receives any of the goods ordered hereunder ("Goods", or in receiving the services ordered hereunder ("Service").

Any Buyer acknowledgement form, purchase order, or other document related to the Goods and/or Services shall not have the effect of modifying the terms and conditions of this SO and are hereby rejected by KCM. KCM will consider Buyer's request for changes or additions only if such request is made in writing and directed to specific clauses in this SO. No changes or additions shall be binding upon KCM without prior written consent of a duly authorized representative of KCM.

I acknowledge and agree to the terms and conditions of this quotation.

Signed: _

Print Name: ____

Title: